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for oWl Sc 1. This proves e claim.

Now, once we know

{T(s), Ns) | Bm} s a frome V¥SET
WNe can in‘(’esta‘*e d'z T 4o obtow. The rest of
+he detoils and the unG%u.e«nzss part ore left as

on exercise .




é SOVV\Q global +h0°'rcwls ‘FOY P\av\e carves (O(o CGtmo é‘.?)

DQ‘F:': A plane curve o:{o,L] — fRz s Said to be

e closed i o™(o) = ™ (L) v k=002

nhot
Closed closed
ol(o) x(
o
i OE (o)

TSimple o s A-1 oxoept postibly at S=L .

Simple not Sinpie

@d O@“

Self- intersect

Examt\es
Z : |
closed c

Simple Simple



Theorem of Tuino'nﬁ Taaseu'fs

z «
For ony svwmple closed curve of ¢ IR , Which s
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